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MEEHOH oA 255,222 268,217 A 12,995
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SA: HSD
M S8 29N MEE2HOA i
Sl EMA 29 Y HRINHIA Y (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
-Jl=22 1,098,000& * 19 * 12& 13,176
- A2 (IILEE) 1,098,000& * 42| 4,392
- HZAH| 130,000& * 1% = 12& 1,560
- S22 130,000& = 1Y * 12& 1,560
-Ex4 40,0008 * 19 = 12& 480
R PR A= Ry 51,980& » 1¥ » 7 364
- HE S0t 1,098,000& * 1.2 = 1H 1,318
O4tf =3 IH2J| AL oAb
41,680 * 2¥ * 22 * 43| 667
202 04| 1,800 1,800 0
01 2LHOHI 1,800 1,800 0
OMEEY g2F=XAH| 1,800
307 QI2t0| ™ 37,208 33,981 3,227
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03 I HLs22 XNHE 57,997 31,559 26,438
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-Jl23 1,380,000 * 1 = 12&€ 16,560
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-SEsE 500,000& = 1CH 500
-SE32 600,000& * 5CH 3,000
-S&x 600,000& * 2CH 1,200
OXS A 700
-A8SE 100,000& * 2CH 200
-SE5E 100,000& = 1CH 100
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- S 100,000& = 2CH 200
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Ooklgate o) A8z 70,000& * 42| 280
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